2. Mk AN B

AR AR TIEOBAEEICB T MmN BT, REEIRHEE T2,

#1 (1H3%4y)
e H JliNT T T EE | FEREER | EEER
H HifH S bR T 1A 5A
SRR 2SR e T AL T 1A LA 2N
KFEIM T — IR E T 1A YN
R e RR i T 1A 4N
AR A REAL 1A N 1A 2N
FifmIES| T ikl 1A 4N
M1 B A SR L TAITH8 G RE
3. HY7=0iE T &
TEZERID A S 70 T8I%, kEET 5,
#2 (1H3%4y)
TH H X2 i T
H HifH S PR T mt 40.0
FRE 2R e T AL T mt 75.0
KIKEIN T — R iE L & AT 300.0
WEREfE R E T m 150.0
AR EAEREAL Dy 250.0
FifmIES| T nt 300.0
4. Jiti THH
FAEEICRBITDHHNT, REET D,
73 H i B WBRZE T (100nf249)
2B B - 4 o =X (72 =
JliNTT 2.5 A 1A X100nf=+40.0nt/ H
L 12.5 A 5 A X 1001f+40.0nf/ H
HHEE NEED3I% 1.00 X TR - THFE L B A
=4 A AE 2SR e T AL PR T (100ni249)
AR BA - b4 o XA g 2
JLGTT 1.33 A 1A X100nf=+75.0ni/ H
T 1.33 A 1A X100nf+75.0nd/ H
WEIEEE 2.67 A 2 A X100nf +75.0ni/ H
LRAR W K FHEE A
TFUUFEAE =V RAE S T~V 5.00 kg
(2=Ly223)
AR AN D5% 1.00 2y e R e




#*5 AKREEEI T — R E T

(100FEHT4Y)

2B B - 4 o =X (72 =
LTS 0.33 A 1A X 100f& AT +300.0f%Fr/ H
T 1.33 A 4N\ X 1007 Fr +300.0 & AT/ H
KFEMT L —h 100 e
MR AR D10% 1.00 2V Feva b
#6 HEREJE R B T (100ni249)
2B B - 4 o =X (72 =
LTS 0.67 A 1 A X100nf=150.0nt/H
T 2.67 A 4 A\ X100nf=150.0nf/ H
FiaE Al 750mL 12 1
STE2IA TR E N Lo —NED O3 T RIS Lo — ki LI E EnD) Lpd it ELuy,
&7 AR HPARANEA T (100Y7hv40)
2B B - 4 o =X (72 =
HEE 0.4 A 1A X100Uyhv—+250.0Vyhv/ H
T 0.4 A 1A X100Uyhv—+250.0Vyhv/ H
e =] 0.4 A 1A X100Uyhv—+250.0Vy v/ H
WEMIEEE 0.8 A 2 A X 1009y My +250.0Yhv/ H
R A A (B AGNA78—) 8.4 kg TANED12%
A (i) 70.0 kg 68.0kg X 1.03=70.0kg (A 1.03)
5 (HEBEV VD) 0.14 t 136kg X 1.03=140kg (A3 1.03)
;Ji\%%]\zi‘{ﬁfﬁmaxwm/mm 0.40 A 118 X 1009yhr=-250.00yh1/ B
HHEE NEED3I% 1.00 X IRV AR REE D TEEE M,
#8 ZifmlE5| T. (1001124 9)
2B B - 4 o =X 72 =
HEE 0.33 A 1A X100nf=300.0nf/ H
R 1.33 A 4 A\ X100nf=300.0nt/ H




